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Write f—zas a decimal. (Gpe 2 by 051—92 |




in small or large boxes. The
manager of the bakery wants to
maintain the same ratio of each
type of muffin in the large box as in
the small box. If the large box
contains 9 chocolate muffins, how

many blueberry muffins are in the

large box?

Muffin Quantity
Blueberry 2
Cinnamon 1
Chocolate 3

dasi Ao Blaal) jdall jute 2y By
Bsriall B dasl) £ 1gil (e g5t S Aglacia
cssual) @griall B Sl g LS udl)

(o g8 9 o (ggian ) (dgaiall 1< 1)
A0 Cugl) Gilal ase A (AT S dt) CulSa

¢ sl (§ gl 93

EINN dSl)
GooY) sl 2

g | 1
[l )N 3




A water park gave the local school diilaa 5,535 10,500 4Ll dhaal) s
10,500 free tickets. The school has  «dujaall B il 350 2ag cdudaal) dusyrall
350 students. Each student will aS . SN ase i e Gl IS Jasag
receive the same number of tickets. fallls JS lgale duanaw AN 8130 axe

How many tickets will each student

receive?




Q.4: Graph Integers on a Number Line

dasaial) JaeY) ds gana Jia

Graph the set of integers. "
_..ﬂ.jﬂ-'i‘ ?:ﬁm Ub{_4r _6! 2}

{—4,—6,2} on a number line.




Refer to the circle graph. Suppose aag i) (ayd (Sl bl acll £aa il
there are 3((0 students at a School. Cpdll Dl sae S Le djia B il 300
Find the number of students that AB.8A duagS Cpal) 1g A

have cheese as a snack. p

Snacks

Fruit Cheese

Veggies
17%

|_ Cookies
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: Graph Reflections of Points

Write the ordered pair that is i) Galsad) oo gl (M) G jall g 30 i)
X s5aall Jsa A(—37,2)

reflection of A(—3 %,2) across the

X—axis.

(3_12)




{ L‘ 6 2 Abdalla is making a shack mix for
2 7 3 6 his family camping trip. He added

_ 14.52 ounces of peanuts to 27.35

‘\‘. \ ¢ % 7 ounces of granola. How many

ounces of snack mix does he have?

Aa ) A2dd diag (e e el dlae aghs
Cilald a5yl ae L sl A1) andsl

) Saged) S5l (e ddgl 14.52

138 (e Ayl oS Ngihall (e A8l 27.35
OV daal Caal g all




\ (5- S \,2 N 1 | When working on homework, Shayma dads 15 elasd g.a..-ﬁ calalgd) Ao Jaad) oL
s - spends 15 minutes reading for every b gl dads 20 JS Jilaa Bs)jal o
Q Q 7‘3 \ S_; 3 20 minutes spent on math, Aisha Belall b ARy 12 ol dddley cciluali )
q ( 6 spends 12 minutes reading for every  aid @i - ikual ) u.v. lguiads 448y 15)< Jilia
3 u \ 15 minutes spent on math. Which b))l 93 aii Al B axl sy Al 1
—— — person has the greatest ratio of Siluals ) 93 (als g:J'I (&l Jalia
L—\- 3 minutes spent on reading to minutes

spent on math.

\
aluabifl)l A i Al B Jilda 3oal) 2 il SY1 Al i alile
Aisha has the greatest ratio of minutes spent on reading to minutes

ent on math.

Cilbaalil) A ol AN 38 Jalha Bel@l) A ol AN (3B e S dacdl) ol eland
Shayma has the greatest ratio of minutes spent on reading to minutes spent on

b, math

Claald) b il A (3B Jolha bl (b BB Ga damdl) Gadl Gl Aoy ¢ slasd
Shayma and Aysha has the same ratio of minutes spent on reading to minutes

spent on math.



20 QGQ _\S(TO‘ —,5 WA )50
oo NV T lew

Sana decided to donate 30% of her LA (1030% Aty o L oy 8
savings. If she has AED 248 in her aball) Glua 2 AED 248 lgal ol 138
savings account, about how much Pao f i oA Bl Alial) Lad

will she donate?

AED 30
AED 250
b.

AED 60
d.

- - - T O

n
S ——




-10: Divide Whole Numbers by Fractions

Divide 5 +=. .5+ 2 aud




Laila is running laps around the track. (ag . laaall Jsa aljga dae Ad (ags
The time in minutes and the number of .zigall hbdall L& &y gall 2ac g BAL =341

laps ran are shown in the graph. calil) diMe Jsa dasaia 40N &)Ll cgi
Which of the following is true about the feiaill & dauagall
ratio relationship shown in the graph? gl
Kunning Y B L
7 16

|

-
o

—

b

et

:En ., B
E =
£ s g
- ~—
- - x
4 0 U 2 3 4
Baalg Byga A gy @il 4 S B s < gall aae
[ . Number of La
_} Every 4 minutes, Laila ran 1 lap. R .
s . -------------- ] ___—.._' _ —

Laila ran 8 Laps in 2 minutes.

Glgd 4 asyl Baalg dBds Lt b et

It took Laila 1 minute to run 4 laps.

Glgr 3 A Jai ddsy 16 JNA

In 16 minutes, Laila completed 3 laps.




Q.12: Find Opposites of Opposites

Find the value —[—(—7)]. c—[=(=7)] Aad g




Which of the following statements fhasaa 40y @l ball 4 féi

is true?

0<-12




e FIVE AUV MIVIICIHIRD

160

A survey showed that 4 out of 5 Aal O 5 e D 4 o ol gla

e ———

5 % O students own a bicycle. Based on 800 (e Wb aS cda i) sda o slaeYL

this result, how many of 800 fdalyn dlia duyaall B s

o
M students in a school own a bicycle?




B Divide. Write in simplest form. 3o dad b 3l ) . add
5 5 5 5




Ide
ntify
the
orde
red
pair that n
ame
s
. D akadil
1) Jias
0 {;lﬂ it
-5 3l
g

point D

1.5,—1)

l1 i
!




What percent is represented by the €10 X 10 iy dliaal) digiall doil) La
10 x 10 grid?

65%

60%




87T BUNUS TTTTT Multiply Decimals

Find 0.15 x 0.023 0.15 x 0.023 zit gl

0.000345
d.



~0.15
1.20: Rational Number

l J, o.M

Order the set from least {g greatest. SV e e de ganall G

3 1 { 3 1]
— - — 1.5,—-2.5,———,—
(15,-25-2. 2

47




0Q.21: Rates and Unite Rates

dads J< b A, 200

200 oranges in each minute

dids JS b cNWE, 8

aﬁ.@*d‘gﬁhm.ﬁ

1 . .
3 orange in each minute

ya

o

Saif picked 40 oranges in 5 KC:’KA

minutes. At this rate, how many

oranges was he picked per minute?

@.@&5?&&@40 o calad
?Eﬁ,ﬁﬁluﬁ (gikd a.lm‘)e ‘;S cJanal)




1 .22 ***** BONUS ***** Divide Fraction by Fractions

— )( — " u Divide. Write in simplest form, ) g sl B 3L S . anddl
L} _5'\ 334-' 12+ 37+ 12
7‘4 33 4 "3

c.
d.




B T WE M MIEMINITE PRI

Cans of corn are on sale 10 J<d Laaps 20 Julie ol 3,3 Qle (gl
at 10 for 20 Dirhams. e 15 488 aagf L ale

Find the cost of 15 cans

%7

Cans of Corn 10T\’ 15—) D) 10 15
Cost in Dirhams = 20 m - 20 [ |
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Q.24: Solve Ratk Problems

€10

'E _ There are 810 Calories in 3 scoops (e 3% 3 A Al e 810 g
— - of vanilla ice cream. How 3:1 Lhall Gl ase a8 L LLALAY clalia
_? X’[' O ‘ % q 0 many Calories are there in 7 scoops Tllildl) cilalia Ga (3550 7 B Bagagall

\, of ice cream?

Sl aw 270
. 270 Calories
1890 Calories

SAA | J WAV | VAL |
Sl mu 2430
. Calories 2430

Calories 347;




257w BONUX**** Find the Whole
l ‘3 LS Hasan spends 159 of the school . ga ) dags (e 15% (pun ok
a O - S DO day in science class. If he spends 75 o 2 4833 75 Cpes ond 1Y) caghal)
minutes in science class, how many bl agddl Joh Al A8 a<h (aglal)
U minutes long is Hasan’s school day? ¢y Ayt

a. .
.............. i




